® IHAIE

=
b
[0

oK

RO
Mo

ur

| AIZHOIA 8 E0tE S0lA 270t

oto
agel

0

=
RO
[0
Ki

ok

ur

SLICH.

}

(a3
or
{ID

ol

i)

==
[

ol
ur

w0
i

ol
ol

ok

o)

o

i)

==
1o

ol
70
ur

ol
I
&J
Byl

w0
i
ol
ol
%0
Ho
K
=
o1
[
Edl
]

ok

to

o)

000

0l
I/
Kl
N

[
or
<D

ol

X0
ur

[

IH

0t

-

<J
I+

ok

ur

[

I
Kl
N

R0
M0
Ki

o]
I
<]
Bl

Ol
<

I+

ok




oo
)
i
ol

S22 MO 2O

!

IN[[ESE=gea BSI

0l

1of
ol

)

&

oll

-

20

o)

Kl
g

ok

RO

00

=
=

o

-

oll

pill

1o

0l

KA

[
Kl

w0
a1

1l
0
ol

ol

Al A

K
10

N 2-32

g

0
1o

o)

E

<)
RO
<k
o
oll
all

pill

1

KA

[
Kl

il
Sl

7D
1od
o
Em]

BE= D10

Jt==5t0

IEE

Hoz o
—-
Aﬂ{

|.

g
o

Ju

(Martin)gie2 M=35

wl

- Ot

i

«— A

[=]
HE

HER]-
26l

=
=

? e
(=]

v

=1
[=]
> RExY > 077 >

R0

It
Tl
Uk
1]

R
EL

Ie]

i
KK
)

B
K

2ot 299 50~80%2! ==

S IR0

oH

®

ol

I3
i

T
o

<

1o
TH

20,

oF
s

b

oF

oll
(]
Kq
=
&l
ol
I
s}

e
Kto

o

uJ

0l

i)
%0
Kq

i
T

ulll

i
o}

0
o

o

2 Jt29| 582l

RO
Mo

ot

00

HS HAH A

ol
oK

1

4

OF
I
)
Ki

otHH,

U222 16~2001 Al (mesh) 2

~

OF
I
)
Ki

i

@ MZEJIA AAHLR BER

w0

il

ol
[
Kl

A
e

e

\

=
[

==0

TH

=23
S

el 2

(e

=

<Jg 2>




| Al

o 2= 3JI100 et Lh=Ct.

bl =2

¢

M
Ol 40um Ol&tel E2=22 100~20001 Al (mesh) =2l XM= H A

=
—

StCt.

=2
=)

@ LXxtel X

SXAIZIE Mg 2ol =2 8201 It

£ s

=
=

21

ISENY

K0
un

H
il

0l
il

-

0
o
%l =

7ol

- HIOISH

0

i

It
Kl

e}

S50 et

INIPA DSBSl

ol
=

&l
ul
iol

s}
Kl
Kl

=

O
4

Ju
ol

0

o

& Ot

i

KD

o)

2t

N AA

pill

IH
a
O

SHZE ol

&

b

oIc

ol&tH

AIZ2EOI ZOF OH<

N =
==

Wl
O
0

Z)2 HOIE(RER)

(&

ISR

g 3>

<1

QE?Q&

RELE S

_

228
Ao

<O8 4 58 JAE2IN(EE) OHEHE JAYZB2AIN(ER)Y 2




Ki
A

[}

ok

o U0 Be 20° &

=

=

® DEE0| 35~38%

g

ot ==0] 36~45%L! 4H 032 =0

@ 012 HEH

AL

cHAl

IT

=

<J¥ 6>

counter-current(2{F4])

co-current(H 7 4))

3|E{

o2

ui2| 7

A

Ot
<

I+

ok

ur

et Jt

A
ol
il

ol HISto Ot

| Xl

[
Kl

uy

0l

=y
IH

pilt

0l
TR

0l 5~40umol

=2
[=]

Nl

ol

0l

uJ

oL

q

I3
<]
Bl

X0
ur

Ol
I
il
Eill

®r
&0

2~3um J E 2|

=o

[y —

i

(o]
101

)
K0
oJ
_ln_
JH

H

Jb 65~70C &

o0

00

ol
ulo

2 Ml

K-
ol

n
4]

0l




&0
Ho
Kd
=
ol
I
]
N

HAHEI! oA

ez =

2101

=
[

- SARUE BY X > 0} —> APY > HEEE] > M > U

a9 -+ [7E]

RO
[0

Ki

ol
I
]
Bl

w0

o)

222

=ty 222

JAI2E01 RILE

Ol X
=2o

XNH=s MAE

@ 0.3-0.5%2

oH

=
=}

@ 20-28%2] 1

[

<+

<

wh
ok

B3

X

EPNRS

ot

ol
ol

o
IH

KA
i~

ok

0
70

o0
180

|
=

3019 g0idl 22

@ YN 60Co HAXIINA

gt
=

O] 30-50C2 M201A

m0

KA

Y

RO

e}

ok

0l

[k

o
RO
il
)
0o

0l
RI
30
M0

e}

ur

0l

25

SotH Ctel

S0 & Atol0l & &

JI [

ol Xtel 2210t &

2=
=

(il

&0l gt

AE AU=2

| =

=0f

ol

=
o HE

)

2

(

CF ol &I T

& SO
Ol XXM, o222 It

b OtLlet

ol

O MEZ A

=
-

gH XI
=2

£ SatotdH &

o

& A

o




&3al]

!

(@]
]
ilor
o)
H
)]

A
Y
ed

0l
Jn

del]

fill

-+

0
Kd

ok

ur

0l
03
=
)
ol

fill
1o

0l

E3
_Jl_
@
I
%

M= 5ol 226

Ol WEAIZI TS

5

ot
AX HEsS ™ Mg

K0

ok

&
i

_JA_
I
RO
i
IH
Kl

0l

Ot
<

I+

ok

ur

J
3

0l

Z0l

NE=HU

2 MOIH,

H
00

o)

Ok
It
Rl

i

0l

o
i

i

ok

==

3

~
W
IH

ol
R

=

uJ

S)

KO

@r_e

0l
It
R

EY]

w0

HEOl 20X, OIX2 It AR 2 AtE

cray

g S3stotH

te

&

ol




